Exhibit A BILLING SUMMARY FOR THIRD INTERIM FEE APPLICATION

43670.00002 - SBC

INVOICE DATE	TOTAL HOURS	TOTAL FEES	TOTAL EXPENSES	TOTAL INVOICE
August 10, 2005	361.3	\$106,189.50	\$4,230.14	\$110,419.64
September 15, 2005	169.5	\$52,317.00	\$3,872.00	\$56,189.00
October 11, 2005	73.4	\$19,784.00	\$316.95	\$20,100.95
November 15, 2005	102.2	\$27,744.00	\$513.22	\$28,257.22
Total	706.4	\$206,034.50	\$8,932.31	\$214,966.81

July 2005 Fees:

Attorney/Paralegal	Number of hours billed	Hourly rate	Total
Joseph M. Coleman	129.2	\$400.00	\$51,680.00
Joseph A. Friedman	56.3	\$35.00	\$18,297.50
Michael L. Scanlon	118.9	\$250.00	\$29,725.00
Robert J. Taylor	5.4	\$250.00	\$1,350.00
Shannon Cooper Savage, Legal Assistant	13.5	\$115.00	\$1,552.50
Theresa Garcia, Legal Assistant	33.3	\$90.00	\$2,997.00
Kelli Vecera, Research Assistant	4.7	\$125.00	\$587.50
Total	361.3		\$106,189.50

July 2005 Expenses:

Expense	Amount
Photocopies	\$1,732.80
Court Reporter Fees	\$909.57
Delivery Expense	\$7.50
Fax	\$31.00
Telephone	\$144.24
On-Line Services	\$1,360.49

Expense	Amount
Telephone - Long Distance	\$3.12
Postage	\$21.05
Federal Express Corporation Joe Coleman	\$20.37
Total	\$4,230.14

August 2005 Fees:

Attorney/Paralegal	Number of hours billed	Hourly rate	Total
Joseph M. Coleman	75.8	\$400.00	\$30,320.00
Joseph A. Friedman	22.2	\$325.00	\$7,215.00
Michael L. Scanlon	50.7	\$250.00	\$12,675.00
David D. Ritter	1.0	\$240.00	\$240.00
Shannon Cooper Savage, Legal Assistant	3.4	\$115.00	\$391.00
Theresa Garcia, Legal Assistant	16.4	\$90.00	\$1,476.00
Total	169.5		\$52,317.00

August 2005 Expenses:

Expense	Amount
Court Reporter Fees	\$503.72
Mileage	\$27.54
On-Line Services	\$989.42
Outside Photocopies	\$742.75
Parking	\$39.54
Telephone - Long Distance	\$2.28
Copies	\$600.90
Professional Services – Deposition Transcripts	\$960.85
Travel Expense	\$5.00
Total	\$3,872.00

September 2005 Fees:

Attorney/Paralegal	Number of hours billed	Hourly rate	Total
Joseph M. Coleman	13.4	\$400.00	\$5,360.00
Michael L. Scanlon	51.9	\$250.00	\$12,975.00
Robert J. Taylor	4.5	\$250.00	\$1,125.00
Theresa Garcia – Legal Assistant	3.6	\$90.00	\$324.00
Total	73.4		\$19,784.00

September 2005 Expenses:

Expense	Amount	
Fax	\$6.00	
On-Line Services	\$131.95	
Telephone - Long Distance	\$13.32	
Postage	\$9.68	
Copies	\$156.00	
Total	\$ 316.95	

October 2005 Fees:

Attorney/Paralegal	Number of hours billed	Hourly rate	Total
Joseph M. Coleman	19.90	\$400.00	\$7,960.00
Joseph A. Friedman	3.30	\$325.00	\$1,072.50
Michael L. Scanlon	71.90	\$250.00	\$17,975.00
Shannon Savage – Legal Assistant	3.90	\$115.00	\$448.50
Theresa Garcia – Legal Assistant	3.20	\$90.00	\$288.00
Total	102.2		\$27,744.00

October 2005 Expenses:

Expense	Amount
Photocopies	\$241.65
On-Line Services	\$259.81
Telephone - Long Distance	\$4.56

Expense	Amount
Postage	\$7.20
Total	\$ 513.22

43670.00004 - Unipoint

INVOICE DATE	TOTAL HOURS	TOTAL FEES	TOTAL EXPENSES	TOTAL INVOICE
September 15, 2005	4.0	\$1,127.50	\$2.55	\$1,130.05
October 11, 2005	40.3	\$10,161.50	\$79.60	\$10,241.10
November 15, 2005	24.5	\$6,605.00	\$117.73	\$6,722.73
Total	68.8	\$17,894.00	\$199.88	\$18,093.88

August 2005 Fees:

Attorney/Paralegal	Number of hours billed	Hourly rate	Total
Joseph M. Coleman	.5	\$400.00	\$200.00
Joseph A. Friedman	.7	\$325.00	\$227.50
Michael L. Scanlon	2.8	\$250.00	\$700.00
Total	4.0		\$1,127.50

August 2005 Expenses:

Expense	Amount
Copies	2.25
Total	\$ 2.25

September 2005 Fees:

Attorney/Paralegal	Number of hours billed	Hourly rate	Total
Joseph M. Coleman	6.6	\$400.00	2640.00
Joseph A. Friedman	2.9	\$325.00	942.50
Michael L. Scanlon	23.5	\$250.00	5875.00
Shannon Savage – Legal Assistant	.2	\$115.00	23.00
Theresa Garcia – Legal Assistant	5.9	\$90.00	531.00
Kelli Vecera – Research Assistant	1.2	\$125.00	150.00

Attorney/Paralegal	Number of hours billed	Hourly rate	Total
Total	40.3		\$10,161.50

September 2005 Expenses:

Expense	Amount
Photocopies	48.60
On-Line Services	31.00
Total	\$ 79.60

October 2005 Fees:

Attorney/Paralegal	Number of hours billed	Hourly rate	Total
Joseph M. Coleman	1.6	\$400.00	\$640.00
Joseph A. Friedman	3.2	\$325.00	\$1,040.00
Michael L. Scanlon	19.7	\$250.00	\$4,925.00
Total	24.5		\$6,605.00

October 2005 Expenses:

Expense	Amount
Photocopies	\$42.60
On-Line Services	\$75.13
Total	\$117.73